SV MG
B i HANSAVFLEX

| _§:3
BO1+2 K| SNRG, B AT
BHERX1+2 24°H4

Gm%ER R IR 1
ERFR BiE ks
Py DIN 2353 L2 }

1SO 8434-1 |
HtxBm HHERSAYATNEE s u
[ T3] %4
B’Bx
BXRE, BEA, EARAAATN TERENEBELSHSRSERNERES.,
#* &

SR THEEH S

SV NW 04 HL MG L PN 200 6 M12x1.5 42 27,0 22 7,0 17 17 14
SV NW 06 HL MG L PN 200 8 M14x1.5 42 27,0 23 8,0 19 19 17
SV NW 08 HL MG L PN 200 10 M16x 1.5 43 28,0 25 10,0 22 22 19
SV NW 10 HL MG L PN 200 12 M18x1.5 44 29,0 25 10,0 24 24 22
SV NW 13 HL MG L PN 200 15 M22x1.5 46 31,0 27 12,0 27 30 27
SV NW 16 HL MG L PN 200 18 M26x 1.5 49 32,5 30 13,5 32 36 32
SV NW 20 HL MG L PN 100 22 M30x2 51 34,5 33 16,5 36 41 36
SV NW 25 HL MG L PN 100 28 M 36 x2 52 35,5 35 18,5 41 46 41
SV NW 03 HS MG S PN 400 6 M14x1.5 44 29,0 27 12,0 19 19 17
SV NW 04 HS MG S PN 400 8 M16x 1.5 44 29,0 28 13,0 22 22 19
SV NW 06 HS MG S PN 400 10 M18x 1.5 46 29,5 31 14,5 24 24 22
SV NW 08 HS MG S PN 400 12 M20x 1.5 47 30,5 31 14,5 27 27 24
SV NW 13 HS MG S PN 250 16 M24x1.5 50 31,5 35 16,5 32 32 30
SV NW 16 HS MG S PN 250 20 M30x2 55 33,5 39 17,5 41 41 36
SV NW 20 HS MG S PN 250 25 M 36 x2 59 35,0 44 20,0 46 46 46
SV NW 25 HS MG S PN 250 30 M42x2 64 37,5 48 21,5 50 50 50
SR LL=kER =R S=E - PN=#IEEH PB=HFAIEH - gd2=BHER

FREE
sV AR ESE, 1
SVVA RESEER THHN

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
07.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



